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Question 1 0.5 out of 0.5 points

If the vectors A = B, this means
that they have the same
magnitude

Selected Answer: & True

Correct Answer: & True
Question 2 0.5 out of 0.5 points

The unit of velocity is m/s

Selected Answer: & True

Correct Answer: & True
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Question 3 0.5 out of 0.5 points

Vector A lies in the third
quadrant, its components will be

negative

Selected Answer: & True

Correct Answer:. & True
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Question 4 0.5 out of 0.5 points
If vectors A - B =0, this means

that they have the same

magnitude and same direction

Selected Answer: & False

Correct Answer: ¢ False
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Question 5 0.5 out of 0.5 points

Three displacements are A= 30
m, due south; B =40 m, due
west; C =15 m, 30.0° east of
north. The following diagram
represent the adding R=C +B +
A

Selected Answer: & True

Correct Answer: & True
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Question 6 0.5 out of 0.5 points

The temperature inside the

fridge is a vector quantity

Selected Answer: & False

Correct Answer: & False
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Question 7 0.5 out of 0.5 points

What is the z component of the
vector ( 107 +90] — 30k )m

Selected Answer: @, 30m-

Correct Answer: @, 30m-



L 4

) LA Uﬂ\uﬁuud\diju‘_dSJ\
JAA\G v gLsa JaaY,0. MM‘CJJ'.U\«_\M
?O}MJALQ Ls

Question 8 0.5 out of 0.5 points

Your dog is running around the
grass in your back yard. He
undergoes successive
displacements 3.50 m south and
15.0 m west. What is his distnace

Selected Answer: @& 18.5m

Correct Answer: & 18.5m
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Question 9 0.5 out of 0.5 points

The vector A has an x component
of Ay =100.0 unitsand a 'y

component of Ay = 200.0 units.

Find the magnitude of this vector

Selected Answer: @, 223.6

Correct Answer: @, 223.6
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Question 10 0.5 out of 0.5 points

The polar coordinates of a point
arer=2mand 6 = 60°. What
are the Cartesian coordinates

(x,y) of this point

Selected v

Answer: x=1m, y=1.7
m

Correct v

Answer: x=1m, y=1.7

m
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Question 1 0.5 out of 0.5 points

The amount of energy

represented by Kkilowatt-hour (1
kWh) is 3.6 MJ

Selected Answer: @&s True

Correct Answer: ©&» True
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Question 2 0.5 out of 0.5 points

The Sl unit of an acceleration is

meters per second squared

(m/s2).

Selected Answer: & True

Correct Answer: & True
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Question 3 0 out of 0.5 points

if a hockey puck slides on a
perfectly frictionless surface,
it will eventually slow down

because of its inertia

Selected Answer: € True

Correct Answer: ¢ False
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Question 4 0.5 out of 0.5 points

.The potential energy of an
object is given as m+gh

Selected Answer: & False

Correct Answer: ¢ False
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Question S

0.5 out of O.5 points

Decreasing the time you
complete the work will

increase the power.

Selected Answer: «@» True

Correct Answer: s True
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Question 6 0.5 out of 0.5 points

AS an object falls freely near
the Earth’s surface, the loss
in gravitational potential
energy of the object is equal

to its gain in kinetic energy.

Selected Answer: & True

Correct Answer: ©s True
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Question 7 0.5 out of 0.5 points

The Newton is an unit of the
following quantities except

Selected Answer: &, The mass
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Question 8 0.5 out of 0.5 points

hat is the gravitational
force on a man of mass
m when he is sitting in a

car that accelerates at a
?

Selected
Answer: ngma

(;!

Correct Answer: &
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Question 9 0.5 out of 0.5 points

Abus used brake to accelerate
uniformly from initial velocity of
15m/s to final velocity of 7 m/s
in 4 seconds. Calculate the

acceleration of the bus before it

stop
Selected Answer: 9 2m/52-
Correct Answer: 2

& 2m/s~ -
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Question 10 0.5 out of 0.5 points

The polar coordinates of a point
arer=2m and 6 = 60°. What
are the Cartesian coordinates

(x,y) of this point

Selected /|

Answer: x=1m, y=1.7
m

Correct /)

Answer: x=1m, y=1.7
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Question 1 0.5 out of 0.5 points

At a temperature of -273°C, the
pressure of a gas will be 273Pa

Selected Answer: & False
Answers: True
"s False
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Question 2 0.5 out of 0.5 points

The Sl unit for electric field
is (N/C)

Selected Answer: & True

Answers: 2 True
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Question 3 0.5 out of 0.5 points
The temperature difference
between the inside and the
outside of an automobile engine
is the same on both Celsius and
Kelvin scales

Selected Answer: s True
AnNswers: <» True

False
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Question 4 0.5 out of 0.5 points

Pyrex glass has a higher
coefficient of linear expansion
than normal glass

Selected Answer: & False

Answers: True

&, False
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Question 5 0.5 out of 0.5 points

A charged particle of mass
m and charge g moving in
an electric field E has an
acceleration a=E/gm

Selected Answer: &» False
ANswers: True
“» False
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Question 6 0.5 out of 0.5 points

If charge g placed in an
electric field is negative,
that's mean the electric
force and the electric field
are in the opposite direction

Selected Answer: & True
Answers: 2 True

False
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Question 7 0.5 out of 0.5 points

Fahrenheit and Celsius scales

agree numerically at the reading

of
Selected Answer: @ 40-
Answers: 273

0)

301

» 40-
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Question 8 0.5 out of 0.5 points

The Sl unit of temperature is

Selected % Kelvin

Answer:

Answers: Kelvin and
Celsius
“s Kelvin
Celsius

Fahrenheit
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Question 9 0.5 out of 0.5 points

The magnitude of the electric
force between two protons is
2.30x10726 N. How far apart
are they? (qp= 1.6x10"120)

Selected Answer: @ O0.T m

Answers: 0.022 m
3.10m
0.48 m
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Question 10 0.5 out of 0.5 points

When a positive charge moves in
the direction of the electric field,
the electric potential energy of the
charge—field system increases

Selected Answer: & False

Answers: True

&» False
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Question 1 0.5 out of 0.5 points

An object having a net charge of
24 uC is placed in a uniform
electric field of 610 N/C directed
vertically. What is the mass of this
object if it “floats” in the field?

Selected ()

Answer: 1.49%1 O'3kg

ANnswers: 1.49%1 O3kg
&

1.49x103kg
25.4kg
3 ) 5.4x10 3kg
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Question 2 0.5 out of 0.5 points

If an electric charge of 900C flow
through the filament of an electric
bulb for half an hour . What is the
electric current will be in the
filament

Selected Answer: @, 0.5A
Answers: 0.005A
0.05A

30A
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Question 3 0.5 out of 0.5 points

If the electric potential difference AV
required to stop an electron
moving with an initial speed is
-2.31 kV, the initial speed of the

electron equals: (e= 1.6x10°19 C,
me=9.11 x 10 =31 kg)

Selected &
Answer: 2.85% 10°m/s
Answers: &

12.85x%x 10" m/s

10.85 x 107 m/s
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Question 4 0.5 out of 0.5 points

In the diagram Rq1> R2> R3.
Rank the three resistors
according to the current in them,
least to greatest

Ry
R R;
R3
Selected &
Answer: All are the same
Answers: 3,2, 1
1,3, 2
1,2, 3

-
v

All ara tha eamno
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Question 5 0.5 out of 0.5 points
An equipotential surface is one

on which all points are at different
electric potential

Selected Answer: & False
Answers: True
“» False
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Question 6 0.5 out of 0.5 points

The equivalent resistance of a
series connection is always
smaller than any individual

resistance

Selected Answer: ¢ False
Answers: True

“» False



ALl g8 JBad) ) g gas JSdo Aagll) JAI (S
A Jas sl
Question 7 0.5 out of 0.5 points

The charge can be moved
perpendicular to the field without

any external work being done on
it

Selected Answer: & True

Answers: » True

False
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Question 8 0.5 out of 0.5 points

The electric force between
two stationary charged
particles is proportional to
the product of the charges
gl and g2 on the two
particles

Selected Answer: @» True

Answers: “» True

Falca
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Question 9 0.5 out of 0.5 points

If the resistance and the voltage
are known, the resistivity can be
determined by dividing the

voltage by the resistance

Selected Answer: & False

Answers: True

s False
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Question 10 0.5 out of 0.5 points

When a positive charge moves in
the direction of the electric field,
the electric potential energy of the
charge—field system increases

Selected Answer: & False

Answers: True

&, False



